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RRE 10.4.1.2 10422 10134
5210 ig" = 5210 Ethai0 Eth1/0

Ol ofol A PE1Zt PE2E BFHRE{ R11t R2E L20M 4Z 37| 2I5H VC(Virtual Circuit) 1002
L|Ct. O] VC= EoMPLS(Ethernet over MPLS) VC&IL|C}.

PEl#show xconnect all
Legend: XC ST=Xconnect State S1=Segnment1l State S2=Segnent2 State

UP=Up DN=Down AD=Adm n Down I A=l nacti ve

SB=St andby HS=Hot St andby RV=Recoveri ng NH=No Har dwar e

XC ST Segnent 1 S1 Segnent 2 S2
e o m e e e e e e e e e e eeaao oo T +- -
UP pri ac Se2/0(HDLC) UP npls 10.100. 1.5: 100 UP

PEl#show mpls l2transport vc 100

Local intf Local circuit Dest address VC I D St at us

Se2/ 0 HDLC 10.100.1.5 100 uP
CHE 2 2h*E R12| &3]t

interface Serial2/0

ip address 10.1.1.1 255.255.255.0
ip router isis 1

serial restart-delay 0

2FE{ R22| £342 Ct2 1t Z&LCt

interface Serial2/0

ip address 10.1.1.2 255.255.255.0
ip router isis 1

serial restart-delay 0O

A

4 x4
= o

il



debug isis adj-packets debug BHEQ| &2 1S-IS QI Moi| Ciet HEE MSELICt.

Rl#debug isis adj-packets
IS-1S Adj acency rel ated packets debugging is on for router process 1

R1#

13:00:59.978: 1SIS-Adj: Sending serial IIHon Serial?2/0, 3way state: DOM, length 1499
13:01: 07.758: 1SIS-Adj: Sending serial IlHon Serial?2/0, 3way state: DOM, length 1499
13:01:16.280: 1SIS-Adj: Sending serial IlHon Serial?2/0, 3way state: DOM, length 1499

R2#

13:01:50.100: 1SIS-Adj: Sending serial IlHon Serial?2/0, 3way state: DOM, length 1499
13:02: 00.062: 1SIS-Adj: Sending serial IlHon Serial2/0, 3way state: DOM, length 1499
13:02: 07.899: 1SIS-Adj: Sending serial IIHon Serial?2/0, 3way state: DOM, length 1499

O| ALtEI20ME I1S-IS 1o AufgfLct

Rl#show isis neighbors

Tag 1:
System | d Type Interface | P Addr ess State Holdtime Circuit Id
R1#

Rl#show clns interface Serial 2/0
Serial2/0 is up, line protocol is up
Checksumns enabl ed, MTU 1500, Encapsul ati on HDLC
ERPDUs enabl ed, mn. interval 10 nsec.
CLNS fast sw tching enabl ed
CLNS SSE swi tchi ng di sabl ed
DEC conpatibility node OFF for this interface
Next ESH I SH in 18 seconds
Routing Protocol: 1S 1S
Crcuit Type: level-1-2
I nterface nunber 0Ox1, local circuit |ID 0x101
Level -1 Metric: 10, Priority: 64, Crcuit ID R1.01
Level -1 I Pv6 Metric: 10
Number of active |level-1 adjacencies: 0
Next 1S-1S Hello in 5 seconds
if state DOMWN

2t E R1 % R22| 2™ IHH|0|A2| MTUE 7|E2L2! 1,5008 0| E L.

IS-IS Hello THZ! Q| 2 7|7} 1,499HI0|E 0|22 |S-IS Q10| MuigrL|ct MPLS WEF oM
1,500HI 0| E m{Z!2t 6/ 5l 8HFO|E(MPLS AH|A 2| MPLS B|0]€ 27H)E 1,492HI0|E(S 17}
S1EE W2l 7))t Z&LICH MPLSE S8t L2 & 2| A0 T 1,492HI0|E0AM L2 3lHL| 2.7
£ ok =FLct.

Hello & 95

O AlLtE|20 M= 2tE R12] Serial2/0 2/E{H 0| A0 no isis hello padding BZ 0| ASEILICH

interface Serial2/0

ip address 10.1.1.1 255.255.255.0
ip router isis 1

serial restart-delay 0



no isis hello padding

R1#

13:03:46.712: 1SIS-Adj: Sending serial IIH on Serial2/0, 3way state: DOM, length 1499
13:03:54.717: 1SIS-Adj: Sending serial IIH on Serial2/0, 3way state: DOM, length 1499
13: 04: 03.057: 1SIS-Adj: Sending serial IIH on Serial2/0, 3way state: DOM, length 1499
13:04:11.538: 1SIS-Adj: Sending serial IIH on Serial2/0, 3way state: DOM, length 1499
13:04:21.301: 1SIS-Adj: Sending serial IIH on Serial2/0, 3way state: DOM, length 1499
13: 04: 30.636: 1SIS-Adj: Sending serial IlIH on Serial2/0, 3way state: DOM, length 1499
13:04:39.958: 1SIS-Adj: Sending serial IIH on Serial2/0, 3way state: DOM, length 1499

23k ZHo| 571 0|4 2] IS-IS Hello THZ!O| A MTU 3.71(1,497HIO0|E)2 MSEILICE EIREE
1IS-1S Q10| LIEFS 7 R| TR &H7Al Hello THZ! & A& S ELICH 28L MTU EXIE a4
SHX| oto ™ Q14 0| LIEFLER| b &L|Ct.

MTUE 2HE R19| QIE{H O|A Serial2/001 M 1,400HI0|E 2 Fot EIL|CE. [H2tA Z|CH 1,400H}O]
E 37|9| IfZI2 oJA 2t0|0{€ Sl MPLS HESIIE S1tE £+ &Lt

CtE2 2t E R12| £33t

|

interface Serial 2/0

mtu 1400

ip address 10.1.1.1 255.255.255.0
iprouter isis 1

serial restart-delay 0

no isis hello padding

R1#

13:07:19.428: 1SIS-Adj: Sending serial
13:07:29.024: 1SIS-Adj: Sending serial
13:07:38.185: 1SIS-Adj: Sending serial
13:07:45.715: 1SIS-Adj: Sending serial
13: 07:55.351: 1SIS-Adj: Sending serial
13:08: 04.814: 1SIS-Adj: Sending serial
13:08: 14.216: 1Sl S-Adj: Sending serial
13: 08:23.447: 1SIS-Adj: Sending serial
13:08:31.676: 1SIS-Adj: Sending serial
13:08:39.966: 1SIS-Adj: Sending serial

2ILE R12 miE 1t €7/ Hello THZl2 A
L|CF.

H on Serial 2/0, 3way state: DOAWN, length 1399
H on Serial 2/0, 3way state: DOAWN, length 1399
H on Serial 2/0, 3way state: DOAWN, length 1399
H on Serial 2/0, 3way state: DOAWN, length 1399
H on Serial 2/0, 3way state: DOAWN, length 1399
H on Serial 2/0, 3way state: DOAWN, length 1399
H on Serial 2/0, 3way state: DOAWN, length 1399
H on Serial 2/0, 3way state: DOAWN, length 1399
H on Serial 2/0, 3way state: DOAWN, length 1399
H on Seri al 2/ 0, 3way state: DOANN, length 1399
d:
=

&&L|Ct O|A| 2 7|= 1,400H}O|E0|AM 12 4H 2+

2t E| R22| QIE{H|0|A Serial 2/00{ A MTU7} ZobX|2H IS 0] HIE & 3HE LICH

2R E R22| £32 CtSo Z &L

interface Serial2/0

mtu 1400

ip address 10.1.1.2 255.255.255.0
ip router isis 1

serial restart-delay 0O

EtE{ R10| 2t RE R20{ M IS-IS Hello THZ!0| =&5tE A2 EH £[H I1S-IS 2IHMHE EBiS U
Ct. 2B R2E 2F*E{ R129| IS-IS Hello I{Z! & 5’_7| 20 2= 1S-IS CIFAM S yp AEIZ 0|
5tH, Ol= 3W e 1Mol MdEE ololgLct ol 2F<Ef R1(Hello THE 0| QIE{H| O|A Serial

2/004| A H|Z &3 E)2 Hello IHZIC| 3 7|8 =|AZS 2 IFELICEH



R1#

13:08:47.010: 1SIS-Adj: Rec serial IIHfrom*HDLC* (Serial2/0), cir type L1, cir id 01,
length 1399

13:08:47.010: 1SIS-Adj: newstate:1, state_changed: 1, going_up:0, going_down:0
13:08:47.010: 1SIS-Adj: Action = GO NG UP, new type = L1

13:08:47.010: 1SIS-Adj: New serial adjacency

13:08:47.010: 1SIS-Adj: rcvd state INIT, old state DOAN, new state INIT, nbr usable TRUE
13:08:47.011: 1SIS-Adj: Sending serial IlHon Serial2/0, 3way state:INIT, length 1399
13:08:47.055: 1SIS-Adj: Rec serial IIHfrom*HDLC* (Serial2/0), cir type L1, cir id 01,
l ength 1399

13:08:47.055: 1SIS-Adj: rcvd state UP, old state INIT, new state UP, nbr usable TRUE
13:08:47.056: 1Sl S-Adj: newstate:0, state_changed: 1, going_up:1, going_down:0
13:08:47.056: 1SIS-Adj: Action = GO NG UP, new type = L1

13:08:47.056: |1SIS-Adj: L1 adj count 1

13:08:47.056: 1SIS-Adj: Sending serial IlHon Serial2/0, 3way state: UP, length 43
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1
interface Serial 2/0

ip address 10.1.1.1 255.255.255.0
ip router isis 1

serial restart-delay 0O

no isis hello padding always

O| HOo| FMHE|IE FA|1S-IS Hello THZ! 2| |4 37|71 MHELICH 2} E R12F R2 79| IS-IS
QI Mol ZA| LIEFLLICEH

R1#

13:25:47.284: 1SIS-Adj: Sending serial Il1Hon Serial2/0, 3way state:INT,
length 43, never pad

13:25:47.328: 1SIS-Adj: Rec serial IIH from*HDLC* (Serial2/0), cir type L1,
cir id 01, length 1399

13:25:47.328: 1SIS-Adj: rcvd state INIT, old state INIT, new state UP,

nbr usabl e TRUE

13:25:47.328: 1SIS-Adj: newstate:0, state_changed: 1, going_up:1, going_down:0
13:25:47.328: 1SIS-Adj: Action = GO NG UP, new type = L1

13:25:47.329: 1SIS-Adj: L1 adj count 1

13:25:47.330: 1SIS-Adj: Sending serial IlH on Serial?2/0, 3way state: UP,

Il ength 43, never pad

13:25:47.374: 1SIS-Adj: Rec serial IIH from*HDLC* (Serial2/0), cir type L1,



cir id 01, length 1399

13:25:47.374: 1SIS-Adj: rcvd state UP, old state UP, new state UP

nbr usabl e TRUE

13:25:47.375: 1Sl S-Adj: newstate:0, state_changed: 0, going_up:0, going_down:0
13:25:47.375: 1SIS-Adj: Action = ACCEPT

13:25:47.375: 1SIS-Adj: ACTI ON_ACCEPT:

1S-1S & QIE{Ho|A MTU EA

CIE{H|O|A MTUZF Y %|5tX| 2™ |S-IS QIT{ 40| LIEFLEXR| et&LICH HHE SHES ¢
F|XEE AIE5104 1S-IS Hello HE € H|&MH3tE = &LICH sHX|EH Ol TIZ§t oH7
=l £~ Mt

Cl2e 2RE R12| &4},

interface Serial 2/0

ip address 10.1.1.1 255.255.255.0
ip router isis 1

serial restart-delay 0O

no isis hello padding always
1S-1S 10| M™E|UR&LICE.

—-_H o AAEH

Rl#show isis neighbors

Tag 1:
System | d Type Interface | P Addr ess State Holdtime Circuit Id
R2 L1 Se2/ 0 10.1.1.2 uP 22 01

I E Shste EfEHE Fst7| Al 2HE R10{AM 2t2E R32 2 E L= ping2 CHEt

&LCt.

Rl#ping 10.100.1.3 source 10.100.1.1 size 1400 repeat 1

Type escape sequence to abort.

Sendi ng 1, 1400-byte | CWP Echos to 10.100.1.3, tineout is 2 seconds:
Packet sent with a source address of 10.100.1.1

|

Success rate is 100 percent (1/1), round-trip m n/avg/ max 44/ 44/ 44 ns

Rl#ping 10.100.1.3 source 10.100.1.1 size 1500 repeat 1

Type escape sequence to abort.

Sendi ng 1, 1500-byte | CWP Echos to 10.100.1.3, tineout is 2 seconds:
Packet sent with a source address of 10.100.1.1

Success rate is 0 percent (0/1)

O nt 2ol 27(7t 1,500HF0|E Q! THZI2 St E|X| Y &LICE 0l 2t E R10| QE{H 0]A

Serial2/00{| A MTUZ} 1,500HO|E2tT 4Zt 57| = &Lt

Rl#show interfaces Serial2/0

Serial2/0 is up, line protocol is up

Hardware is MAT

Internet address is 10.1.1.1/24

MTU 1500 bytes, BW 1544 Kbit/sec, DLY 20000 usec,
reliability 255/255, txload 1/255, rxload 1/255

Encapsul ati on HDLC, crc 16, |oopback not set

Keepal i ve set (10 sec)

7t
=



Restart-Delay is O secs
Last input 00:00: 01, output 00:00:01, output hang never
Last clearing of "show interface" counters never
I nput queue: 0/75/0/0 (sizel/ max/drops/flushes); Total output drops: O
Queuei ng strategy: weighted fair
Qut put queue: 0/1000/64/0 (size/max total/threshol d/ drops)
Conversations 0/1/256 (active/ max active/ max total)
Reserved Conversations 0/0 (allocated/ max al |l ocat ed)
Avai | abl e Bandwi dt h 1158 kil obits/sec
5 mnute input rate 0 bits/sec, 0 packets/sec
5 mnute output rate 0 bits/sec, 0 packets/sec
590 packets input, 283131 bytes, 0 no buffer
Recei ved 567 broadcasts (O I P rulticasts)
0 runts, O giants, O throttles
O input errors, 0 CRC, O frame, O overrun, O ignored, 0O abort
693 packets output, 313789 bytes, O underruns
0 output errors, O collisions, 2 interface resets
0 unknown protocol drops
0 output buffer failures, O output buffers swapped out
3 carrier transitions DCD=up DSR=up DTR=up RTS=up CTS=up

QIE{H|O|A Serial2/00i A MTUZ} 1,400HI0|E 2 o} X|H mfZ!oi| DF(Do Not Fragment) HIE 7} A
HE|X| 2 E2 2tRE R10M XS ZeiaHESHE &= U&LICH mZ!ol| DF HIE 7t M E[0
Ao M Bt +E B2 MTU Mol AF8El= ICMP 3/4 HIAIR|E CHA| 2 £~ Ql&LICH O|F A &
M mZlo| E AR MEShE A ITVIE EY & ‘EAALIEP MTUS| SHIE MH2 BIREHE 8
5tE EEfE 0 ot gt BFRE0M AlEFE|o] SHE B3 & Sutste EgiEols SFUC £
ol o 2= TCPE AFEstD B2 MTU AME AFEE &= /= BGP(Border Gateway Protocol) 7t
A& LICH.

IS-IS &EHE

e

L
Loj
o

1S-IS Q1 =X E sliZst7| flall HIEXH T 2B%tE always 7/¥/== Hello T E HI
£ A&t - 23 9| MTUE 1, 500HH0|E2 | X|ELICH.

1S-IS &= EX|7t 04745] U&LICE I1S-IS Tl O[E{H| 0| AT} 2t 2 B2 A7t gl&LICt

Rl#debug isis update-packets
IS 1S Update rel ated packet debugging is on for router process 1

2t E R37} HFALE F716t01 E2{Y6HH 2t REH R12 2B R2Z2 R E 2HE{ R3 LSP(Link
State PDU)E = 4&IgFLICEH

R1#

*Nov 19 13:53:58.227: ISIS-Upd: Rec L1 LSP 0000.0000.0003.00-00, seq B, ht 1197,
*Nov 19 13:53:58.227: |1SIS-Upd: from SNPA *HDLC* (Seri al 2/0)

*Nov 19 13:53:58.227: 1Sl S-Upd: LSP newer than database copy

*Nov 19 13:53:58.227: |SIS-Upd: TLV contents different, code 130

*Nov 19 13:53:58.228: ISIS-Upd: TID O | eaf routes changed

2t E R30IAM L El= HFALLS| 71 B7t5tH 2t 2B R32| LSP7I LIF HAM i =Zfez B
Lot

R3#show isis database

Tag 1:
1S 1S Level -1 Link State Database:
LSPI D LSP Seq Num LSP Checksum LSP Hol dti ne ATT/ P/ QL



R1. 00- 00 0x0000000C  0x5931 1137 o/0/0
R2. 00- 00 0x0000000B  0xCB7D 1162 o/0/0
R3.00-00 * 0x0000000D  OxF637 1104 o/0/0
R3.00-01 * 0x00000001  Ox6AD8 1104 o/0/0
R3.00-02 * 0x00000001  OxB58A 1104 o/0/0
R3.01- 00 * 0x00000002  0Ox9BB1 387 o/0/0
Tag nul | :

R3.00-002 % HHmj ZEfIHE 0|11 R3.00-012 F Hm| T2 HE L|CY.

R2#

14:22:15.584: 1SI S-Upd: Retransmitting L1 LSP 0000.0000.0003.00-00 on Serial2/0
14:22:15.624: 1Sl S-Upd: Sending L1 LSP 0000.0000.0003.00-00, seq E, ht 467 on
Serial 2/0

14:22:18.352: 1SIS-Snp: Rec L1 CSNP from 0000. 0000. 0003 ( Et hernet 1/0)

14:22:20. 625: 1Sl S-Upd: Retransmitting L1 LSP 0000.0000.0003.00-00 on Serial2/0
14:22:20.657: 1Sl S-Upd: Sending L1 LSP 0000.0000.0003.00-00, seq E, ht 462 on
Serial 2/0

2R E{ R27} QIE{H|O|A Serial2/0& S35 MTAS 5= LSPRILICH PDU Z0|= 1,490H0|EO|IE 2
o| mfZ!lo| 3 7|7t 2FRE{ R10|| EEHSHK| 28t Ct.



¢ Frame 9 (1495 bytes on wire, 1495 bytes captured)
= Cisco HOLC
Add ress: Multicast (0x8f)
Protocol: OS5I (Oxfefe)
CLNS Padding: 0x03
= [50 10589 ISIS InTRA Domain Routeing Information Exchange Protocol

Intra Domain Routing Protocol Discriminator: ISIS (0x83)
POU Header Length @ 27

Wersion (==1) gL
System LD Length ]
FOU Type : LL LSP (R:0O0Q)
Wersion? i(==1]} iR o
Reserved (==0) ]«

Max.AREAs: (0==3) : 0
= I[50 10589 ISIS Link State Protocol Data Unit
POU length: 1490
Remaining lifetime: 754
LSP-ID: G000, 0000, 00063.00-00
Sequence number: Ox0000000e
Checksum: 0xf438 [correct]
Type blocki@x03): Partition Repair:@, Attached bits:0Q, Overload bit:d, IS5 type:3
Area address(es) (4]
Protocols supported (1)
Hostname (2}
IP Interface addressies) (4)
IP Internal reachability (24])
IS Reachability (12}
IP External reachability (252)
IP External reachability (252)
IP External reachability (252)
IP External reachability (252)
IP External reachability (252)
IP External reachability (132)

AR A T R T A T A A T A

EFE{ R113} R2 79| IS-IS @174+ 0| & A EHO|X|Bt EIRE R12| 2t E EIO|E IP S A= C}
St Zr&Lch

Rl#show isis neighbors

Tag 1:
System | d Type Interface | P Addr ess State Holdtime Circuit Id
R2 L1 Se2/ 0 10.1.1.2 UP 25 01

R2#show isis neighbors

Tag 1:

System | d Type Interface | P Address State Holdtime Circuit Id
R1 L1 Se2/ 0 10.1.1.1 UP 26 01

R3 L1 Et1/0 10.1.2.3 UP 8 R3. 01

R2#show ip route summary
IP routing table nane is default (0x0)
IP routing table maxi numpaths is 32



Rout e Source Net wor ks Subnet s Repli cat es Over head Mermory ( byt es)

connect ed 0 5 0 360 900
static 0 0 0 0 0
application 0 0 0 0 0
isis 1 0 252 0 18144 45360
Level 1. 252 Level 2: O Inter-area: O

i nternal 1 10620
Tot al 1 257 0 18504 56880

Rl#show ip route summary
IP routing table name is default (0x0)
IP routing table maxi num paths is 32

Rout e Source Net wor ks Subnet s Repli cat es Over head Mermory (bytes)
connect ed 0 3 0 216 540

static 0 0 0 0 0
application 0 0 0 0 0

isis 1 0 2 0 144 360

Level 1: 2 Level 2: O Inter-area: O

i nternal 1 560

Tot al 1 5 0 360 1460

Ol= 2t E R32| LSP R3.00-000| 2+ E{ R10 =& 5t x| &t 7| 2 K LICtH,

R3#show isis database

Tag 1:

IS-1S Level -1 Link State Database:

LSPI D LSP Seq Num LSP Checksum LSP Hol dti me ATT/ P/ OL
R1. 00- 00 0x0000000E  0x5533 1009 0/0/0
R2. 00- 00 0x0000000C  0OxC97E 453 0/0/0
R3.00-00 * O0x0000000F  OxF239 1045 0/0/0
R3. 00- 01 * 0x00000003  Ox66DA 1098 0/0/0
R3. 00- 02 * 0x00000003 0xB18C 1060 0/0/0
R3. 01- 00 * 0x00000004  0x97B3 554 0/0/0
Tag nul | :

Rl#show isis database

Tag 1:

IS-1S Level -1 Link State Database

LSPI D LSP Seq Num LSP Checksum LSP Hol dti me ATT/ P/ OL
R1. 00- 00 * 0x0000000E  0x5533 1008 0/0/0
R2. 00- 00 0x0000000C  0xC97E 449 0/0/0
R3. 00-01 0x00000002  0x68D9 223 0/0/0
R3. 00- 02 0x00000002  0xB38B 246 0/0/0
R3.01-00 0x00000004  0x97B3 545 0/0/0

ot E R10lE 2H9E R32| L1 LSP(R3.00-00)2| A ¥im{ T2 HETJ} gi&LICH O] B2 & Hmy
ZeiOHET 7HE 310 HFAL 7+ BE&LICH LLPEPH EIRE R101= HF AL L& ¢
Ezi= ol %E#%%'E'LIEL

O] 2M|E aZ3t2d™ Isp-mtu <128-4352> router IS-IS HHE 3l LSP MTUE & & U&LICH
BFRE| R20IMEH O] BHEES 7145t B RE| R2E ofH WA 2 E BIRE{ R30\A =4It LSPE

HESH K| £ &LICH O|l= 2HRE R27t 1,490HO|E Q| LSPE +4ldt= B2 2tRE{ R27} Z2fO T
E3I5tX| ot o|0l&rLICt 2HRE{ R30I A Isp-mtu 1400 HHEES 78 F2 2tRE R32 Bt
E{ R2%2t R1 AlO|S| &3 & SIE &= US TFHF &2 LSPE M ggfLct

rok

22 E{ R30{ A Isp-mtu 1400 BHE T8t < PDU Z0|= 1,394H0|E lL|CH.
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= Cisco HOLC

Add ress: Multicast (Ox8f)
Protocol: OS5I (0xfefe)
CLNS Padding: 0x03
= I50 105839 ISIS InTRA Domain Routeing Information Exchange Protocol
Intra Domain Routing Protocol Discriminator: ISIS (0xB3)
POU Header Length : 27

Version (==1} ©1
System ID Length Nt
POU Type L1l L5P (R:00Q0)
Version2 (==1] e
Reserved (==0) A

Max.  AREAs: (8==3) . @
= I50 10589 ISIS Link State Protocel Data Unit
POU length: 1394
Remaining lifetimes: 1187
LSP-ID0: GOO0.0000, 0003, 00-00
Sequence number: OxQ000000L2
Checksum: Qxb7eld [correct]
Type blocki{0x03): Partition Repair:0, Attached bits:0, Owverload bit:0, IS5 type:3
Area address(es) (4]
Protocols supported (1)
Hastname (2]
IP Interface addressies) (4]
IP Internal reachability (24)
IS Reachability (12)
IP External reachability (252)
IP External reachability (252}
IP External reachability (252)
IP External reachability (252}
IP External reachability (252)
IP External reachability (36)

A S v A A e A T

ZEMoR, O &2 MTUE 7+Z! 837t 5Lt )/ no isis hello padding always BE 2 At& 6t
Eoig EY ¥ EE 20| YHE = JaLIct E2E =X E sHZstedw™ LSPe| 2|t 37|E
£ £ QX|E B E |S-IS 2FRE{0I M Isp-mtu router IS-IS BE S F A48l ok gLCt.

Hello & AS

Ol AlLtE[20ME HEXFII HERH MOHE 2 ST Lc MTUE 22 E R1 & R29| RIE{H| O]
A Serial2/00 A 1,400H}0|E 2 A& EILIC} 1S-IS Hello THE 2 7|& ExI-OIL_||:|.

Cl2e 2RE R12| &4},



interface Serial2/0

mtu 1400

ip address 10.1.1.1 255.255.255.0
ip router isis 1

serial restart-delay 0O

oFRE R29| &2 CiST Z&LICh

interface Serial 2/0

mtu 1400

ip address 10.1.1.2 255.255.255.0
iprouter isis 1

serial restart-delay 0

Rl#show isis neighbors

Tag 1:
System | d Type Interface | P Address State Holdtime Circuit Id
R2 L1 Se2/ 0 10.1.1.2 UP 23 01

R2#show isis neighbors

Tag 1:

System | d Type Interface | P Address State Holdtime Circuit Id

R1 L1 Se2/0 10.1. 1.1 UP 27 01

0000. 0000. 0003 L1 Et1/0 10.1.2.3 up 7 0000. 0000. 0003. 01

£l Ztis-I1s eI Mol &5t Is-IS ET{E . A &LICH

£ A0 MPLS S 21 Ardxt HIER{I 0l X7t Eisto] PE11t PE2 7Ho| QIE & Q=

MTU7Z} 1,400H}O|E o}2i 2 Ho{Z&lL|C}.

Hello 20| M8 EIRICE 2 (7|2 SE) IS-IS €l
ZILICE Ol MPLS 221 E Mitof EA7I USS
O| 0|4 O| MPLS 22t EE 7I2|7|x| et2r{ Eei=lo| o] E2tRENM =3
Ct.

MA0| QIE{H| 0| A Serial2/00| A tik = 7| <ot
LIERHLICE. 1S-IS Q1% A 0| 'I'FEIEE oI El
2| x| et &L

)

mloln

Hello T{E AL OF &

O| AlLIZ|20ME HIERXT7I MSEE MOHZE ZSELICH MTUE
A Serial2/00 A 1,400HF0|E 2 A™EILICE I1S-IS Hello THE 2 H|&

2I2E R1 & R29| QIE{H| 0|
MstELICEH

CHE2 2 22 E R12| &3 LCH.

|

interface Serial 2/0

mtu 1400

ip address 10.1.1.1 255.255.255.0
iprouter isis 1

serial restart-delay 0O

no isis hello padding

et E R29| 32 ot Z &Lt

!
interface Serial 2/0



mtu 1400

ip address 10.1.1.2 255.255.255.0
ip router isis 1

serial restart-delay 0O

no isis hello padding

A2 Zhis-IS 1ol 2 SetH Is-IS ET T HE &LICH

2t E R12| Tl O|E{H|O| A L |Ct,

Rl#show isis database

Tag 1:

IS-1S Level -1 Link State Database:

LSPI D LSP Seq Num LSP Checksum LSP Hol dti e ATT/ P/ OL
R1. 00- 00 * 0x0000001D 0x3742 1148 0/0/0
R2. 00- 00 0x0000001D  OxA78F 1161 0/0/0
R3. 00- 00 0x00000016 OXAFE4 454 0/0/0
R3. 00-01 0x0000000B  0x0AOB 393 0/0/0
R3. 00- 02 0x0000000B  0xC2A5 451 0/0/0
R3. 01- 00 0x00000009 0x8DB8 435 0/0/0

EX A0 MPLS EAI AFAXE HIERT 0 2X|7F ghAistod PE13} PE2 7He| = & 2l
MTUZ}I 1,400HIO|E O}2H 2 EHo{ &l L|LC}.

M

IS-ISE Al F&S &X| oLX|EIP ECHER2 IS L2 + U&LICH 27(7t 1,400H0|E QI THZ!
o A

| watstx| &LICH Ol LSP M2 T AlZHera
|2 MPLS LIE I B0l {20l BEFEILICH

R2#

15:27:07.848: 1SIS-Upd: Retransmitting L1 LSP 0000.0000.0003.00-01 on Serial2/0
15:27:07.880: 1SIS-Upd: Sending L1 LSP 0000.0000.0003.00-01, seq C, ht 1147 on
Serial 2/0

15:27:12.883: 1SIS-Upd: Retransmitting L1 LSP 0000.0000.0003.00-01 on Serial2/0
15:27:12.924: 1SIS-Upd: Sending L1 LSP 0000.0000. 0003.00-01, seq C, ht 1142 on
Serial 2/0

CHE2 MPLS HIERF0M EX| 7L 2 lst £ 2t E R12] IS-IS ClIO|E{H| 0| A L |Ct

Rl#show isis database

Tag 1:

IS-1S Level -1 Link State Database:

LSPI D LSP Seq Num LSP Checksum LSP Hol dti e ATT/ P/ OL
R1. 00- 00 * 0x0000001D  0x3742 725 0/0/0
R2. 00- 00 0x0000001D  OxA78F 737 0/0/0
R3.00-00 0x00000016 OxAFE4 30 0/0/0
R3.00-01 0x0000000B OxCE1F 0 (30) 0/0/0
R3. 00- 02 0x0000000C  0xCOA6 895 0/0/0
R3. 01- 00 0x0000000A  0x8BB9 906 0/0/0

ot E{ R32| Y7 LSP Zef{aHEo| cHet 7| Alzto| Btz El O|F 2| o O|E{H| O] A LT,

Rl#show isis database

Tag 1:
IS 1S Level -1 Link State Database:



LSPI D LSP Seq Num LSP Checksum LSP Hol dti me ATT/ P/ OL

R1. 00- 00 * 0x0000001D 0x3742 605 0/0/0
R2. 00- 00 0x0000001D  OxA78F 618 0/0/0
R3. 00- 02 0x0000000C  0OxCOA6 775 0/0/0
R3. 01- 00 0x0000000A  0x8BB9 787 0/0/0

Zei21HE R3.00-00 & R3.00-012 M O|&f 2hE R10{ LIEILIX| §f2H EF B R32| 2= [
0|4l 2 E R101| LIELLEX] 2f & LCH.

Rl#show ip route summary
IP routing table nane is default (0x0)
IP routing table maxi numpaths is 32

Rout e Source Net wor ks Subnet s Repli cat es Over head Mermory (bytes)
connect ed 0 3 0 216 540

static 0 0 0 0 0
application 0 0 0 0 0

isis 1 0 2 0 144 360

Level 1. 2 Level 2: O Inter-area: O

i nternal 1 560

Tot al 5 0 360 1460

EAE iz 2t E1 R3LSP ZfOHE & UF 7t AlZh ZHE[o] EAIZ[X| ef&LICt Ol= Qs 3
Z & dF7t et Hlo|Soll LIELEX]| Sf&LCh
Hello TS HIE HototH HEAIHNM E= EXME
HIE H=5| mhefstr| 2lsl oie] 2t RE0M 2t E El
2 EME stigst7|7t €W ofed2 2t EXTE 2
IS Q10| Matzl2 2 EX|el ?IRIE W A =2

4 £ &Lt 7|2 MTUZt HEEH 2

4! |S-IS O|O|E{H| 0| A E HESHOF §l=
& LICH Hello & 0| & M3t E|HM |S-
U&LLCt.
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2|4r0| 317 Wile A0l MTUS SHHE ZtoR MXstn Y3 0| ¥RolM SYUstH |xlats
ZARILICH O/ ot IS-IS EITol MR &S5t 2 EVH Zei1MES S SHt2 | $3E
% QAL HE MTU ZME XeiE o gt B s Y & el

IS-IS E21E =AM = LSP7t 7%iE M(UESZ 7t ST M) 2 FHE = AU&LICH 1S-1S Hello T
Slo] HIEAT8HEIH IS1S OIRA0] LFEFLIX| St 2XIE SZELICH 224U} 1SS Hello THIO] &
gdstEls AlZtECH 8 =7 E0iE, S3& EoiE, Z2 MTU 44 27 X7 2 dE =
&LICH et 22X s 2ol Z of249fX|1 Alzhol &M o ARILIct
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